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(A) (B) (A)-(B) (C) (D) (E) (D)~(E) (F)
= Mo 103,963 13,123 90,840 101,279 3,766 97,513
E F 13,193 7,708 5,485 9,850 3,416 6,434
®x = 1 12,742 5,398 7,344 9,092 2,530 6,562
mE h 21,306 5,935 15,371 17,535 2,132 15,403
+ & ™ 15,100 6,139 8,961 11,612 1,543 10,069
A i\ T 12,776 5,897 6,879 9,763 1,474 8,289
B £ 14,340 6,660 7,680 9,425 1,410 8,015
TEFHKT 14,833 9,406 5,427 9,192 2,209 6,983
A5+ 22,316 10,121 12,195 14,933 2,059 12,874
& m 17,872 6,266 11,606 13,342 1,654 11,688
F x M 22,360 12,013 10,347 12,931 2,894 10,037
R F & 3,635 2,387 1,248 1,780 626 1,154
= ¥ 7 A 2,313 1,180 1,133 1,639 343 1,296
B % H 1,743 780 963 1,584 380 1,204
* B E 2,633 1,506 1,127 1,680 519 1,161
i o # 1,671 1,037 634 726 171 555
5 & # 763 338 425 452 145 307
= B M 3,328 1,821 1,507 1,308 166 1,142
A WL H 4,078 2,573 1,505 1,916 508 1,408
X 2 & 7,534 4,626 2,908 3,744 1,466 2,278
T & B 4,766 3,141 1,625 2171 506 1,665
X+ 600 308 292 259 102 157
W o B 16,788 8,123 8,665 10,086 1,663 8,423
= & JII BT 14,530 12,131 2,399 4,926 1,935 2,991
Btk 5,617 3,015 2,602 4,233 861 3,372
£ Il HET 10,224 5217 5,007 6,619 1,398 5,221
A Er 8,070 5735 2,335 3,498 1,034 2,464
R E 4,180 2,478 1,702 2,159 566 1,593
A & # 4970 3,068 1,902 2,653 522 2,131
2 % O 6,892 4,291 2,601 3,049 548 2,501
5 + Hr 17,256 9,502 7,754 10,056 2,340 7,716
X A & 7,287 5,557 1,730 3,583 1,205 2,378
= B # 1,482 739 743 865 213 652
£ B 7,933 3,790 4143 5,787 717 5,070
H it 270,801 88,666 182,135 218,954 25,087 193,867
BT # & 138,293 83,343 54,950 74,773 17,934 56,839
& it 409,094 172,009 237,085 293,727 43,021 250,706
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(G) (H) (G@-H) M
5,504 2,769 2735|& ®1 T
292 128 1642 F
376 192 1842k =
1,239 571 ees|Fd E T
528 264 264 & T
651 318 333| 2 &
543 238 35| £
408 242 166]| LB KT
1,156 722 4348 B + T
518 257 261|F B T
422 208 24F = T
68 39 20| ¥ HT
102 51 51| # 7 &
118 66 ) )
102 58 sl B OHT
56 32 uldt o #
57 26 |E B #
96 52 M= B N
115 58 57|14 W Hr
134 62 72K £ Hr
146 80 el 1& BT
50 31 1ol o #
371 163 208|L @ HT
213 129 g4|i= = )il Hr
117 57 go|l® L 1& BT
181 83 og|tE Il HT
290 197 ga|#& 1 HT
147 84 ) ]
162 61 1018 & #
141 62 79| B HT
368 182 186|™ 5 + HT
107 57 solX A Hr
46 24 2|= R’ #
172 71 101|2 # Hr
11,637 5,909 5,728/ £
3,359 1,725 1,634|ET #F F
14,996 7,634 7.362|& i
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